
Гл а в а 4

КОЛ()А +,ОГО-Л.,О/ (01232л45675)

§ 25. Результ()т. И+,л-.е)/е )е/з0е+т)121. 3/+,4/5/)()т

8а69 3ва :62;2чл56а:

f(x) = a0x
k + a1x

k→1 + . . .+ ak, ai → P ;

g(x) = b0x
l + b1x

l→1 + . . .+ bl, bj → P.

=17 э?2: :9 65 015302ла;а5:, ч?2 a0 ↑= 0 7 b0 ↑= 0. +2462 сA21:B-
л712ва?C сл53BюE7й в2012с: сBE5с?вBю? л7 B 67х 2бE75 I2167?

+9 B45 з6а5:, ч?2 :62;2чл569 f 7 g ?2;3а 7 ?2лCI2 ?2;3а 2бла-
3аю? 2бE7: I2165: в 65I2?212: 1асш715677 02лL P , 5сл7 267 65
LвлLю?сL вза7:62 012с?9:7. ТаI7: 2б1аз2:, в2012с 2 сBE5с?в2ва-
677 2бE7х I2165й B 3а669х :62;2чл562в :245? б9?C 15ш56 017:5-
65675: I 67: ал;217?:а .вIл73а.

25.1. Результ()т 60у7 5)121.ле)10 1т 16)121 )е/з0е+т)1-
21. NIа45: 31B;2й :5?23, 02зв2лLюE7й 2?в5?7?C 6а 02с?авл5669й
в2012с.

О 0 1 5 3 5 л 5 6 7 5. Результ()то+ :62;2чл562в f 7 g 6аз9ва5?сL
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201535л7?5лC

Res(f, g) =

)))))))))))))))

a0 a1 . . . ak 0 0 . . . 0
0 a0 . . . ak→1 ak 0 . . . 0
. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
0 0 . . . 0 a0 a1 . . . ak
b0 b1 . . . bl 0 0 . . . 0
0 b0 . . . bl→1 bl 0 . . . 0
. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
0 0 . . . 0 b0 b1 . . . bl

)))))))))))))))

021L3Iа k + l.
Из св2йс?в 201535л7?5л5й сл53B5? 1ав56с?в2

Res(g, f) = (↓1)klRes(f, g).

)5лCю 6ас?2LE5;2 0а1а;1аAа LвлL5?сL 32Iаза?5лCс?в2 сл53BюE5-
;2 B?в5143567L

Т 5 2 1 5 : а 1. ,у-ть

f(x) = a0x
k+a1x

k→1+ . . .+ak = a0(x↓ω1)(x↓ω2) . . . (x↓ωk), a0 ↑= 0;

g(x) = b0x
l + b1x

l→1 + . . .+ bl = b0(x↓ ε1)(x↓ ε2) . . . (x↓ εl), b0 ↑= 0

– ./( +)о0о1ле)( 2з P [x]. 3о0.(

Res(f, g) = al0 b
k
0

∏

1≤i≤k
1≤j≤l

(ωi ↓ εj).

8лL 32Iаза?5лCс?ва 6а: 02?15бB5?сL
Л 5 : : а 1 (201535л7?5лC /а6351:263а). 4л5 л6789 :ле+е)то/

z1, z2, . . . , zn, n ≥ 2 2з ;ол5 P c;р(/е.л2/о р(/е)-т/о
))))))))))))))

zn→1
1 zn→1

2 . . . zn→1
n

zn→2
1 zn→2

2 . . . zn→2
n

. . . . . . . . . . . . . . . . . . . . .
z1 z2 . . . zn

1 1 . . . 1

))))))))))))))

=
∏

1≤i<j≤n

(zi ↓ zj).

8 2 I а з а ? 5 л C с ? в 2 012в535: 763BIц75й 02 n.
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=17 n = 2 7:55: ))))
z1 z2
1 1

)))) = z1 ↓ z2.

=15302л247:, ч?2 A21:Bла с01ав53л7ва 017 n↓ 1, 7 1асс:2?17:
201535л7?5лC 021L3Iа n. /9ч7?а5: 7з 051в2й с?12I7 в?21Bю, B:62-
4566Bю 6а zn, за?5: 7з в?212й – ?15?Cю, B:624566Bю 6а zn, 7 ?. 3.,
7 6аI265ц, 7з (n ↓ 1)-й с?12I7 в9ч7?а5: n-ю, B:624566Bю 6а zn.
=2лBч7::

))))))))))))))

zn→1
1 ↓ zn · zn→2

1 . . . zn→1
n→1 ↓ zn · zn→2

n→1 0

zn→2
1 ↓ zn · zn→3

1 . . . zn→2
n→1 ↓ zn · zn→3

n→1 0
. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

z1 ↓ zn . . . zn→1 ↓ zn 0

1 . . . 1 1

))))))))))))))

.

Разла;аL э?2? 201535л7?5лC 02 02сл5365:B с?2лбцB, 017х237: I 2015-
35л7?5лю 021L3Iа n↓ 1:

))))))))))

zn→1
1 ↓ zn · zn→2

1 . . . zn→1
n→1 ↓ zn · zn→2

n→1

zn→2
1 ↓ zn · zn→3

1 . . . zn→2
n→1 ↓ zn · zn→3

n→1

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
z1 ↓ zn . . . zn→1 ↓ zn

))))))))))

.

/962сL 7з 051в2;2 с?2лбца (z1 ↓ zn), 7з в?212;2 (z2 ↓ zn) 7 ?. 3., 7
6аI265ц, 7з (n↓ 1)-;2 (zn→1 ↓ zn), 02лBч7::

(z1 ↓ zn)(z2 ↓ zn) . . . (zn→1 ↓ zn)

))))))))))))))

zn→2
1 zn→2

2 . . . zn→2
n→1

zn→3
1 zn→3

2 . . . zn→3
n→1

. . . . . . . . . . . . . . . . . . . . .
z1 z2 . . . zn→1

1 1 . . . 1

))))))))))))))

.

/2с02лCз2вавш7сC 015302л245675: 763BIц77, 02лBч7: 6B4625 1а-
в56с?в2. Л5::а 32Iаза6а.

Сл53BюEаL л5::а л5;I2 Bс?а6авл7ва5?сL 6502с153с?в5662й 012-
в51I2й.
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Л 5 : : а 2 (A21:Bл9 /75?а). =-л2

xn + a1x
n→1 + . . .+ an = (x↓ ω1)(x↓ ω2) . . . (x↓ ωn),

то
a1 = ↓(ω1 + ω2 + . . .+ ωn),

a2 = ω1 · ω2 + ω1 · ω3 + . . .+ ω1 · ωn + ω2 · ω3 + . . .+ ωn→1 · ωn,

.................................................

ai = (↓1)i
∑

1≤k1<k2<...<ki≤n
ωk1ωk2 . . .ωki ,

.................................................

an = (↓1)nω1ω2 . . .ωn.

8 2 I а з а ? 5 л C с ? в 2 ?5215:9 1. Расс:2?17: :а?17цB

P =





a0 a1 . . . ak 0 0 . . . 0
0 a0 . . . ak→1 ak 0 . . . 0
. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
0 0 . . . 0 a0 a1 . . . ak
b0 b1 . . . bl 0 0 . . . 0
0 b0 . . . bl→1 bl 0 . . . 0
. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
0 0 . . . 0 b0 b1 . . . bl



{{{{{{{{{}

7 :а?17цB

Q =





εk+l→1
1 εk+l→1

2 . . . εk+l→1
l ωk+l→1

1 ωk+l→1
2 . . . ωk+l→1

k

εk+l→2
1 εk+l→2

2 . . . εk+l→2
l ωk+l→2

1 ωk+l→2
2 . . . ωk+l→2

k

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
ε1 ε2 . . . εl ω1 ω2 . . . ωk

1 1 . . . 1 1 1 . . . 1



{{{{{{{{}

.

,ай35: 7х 0127зв535675 P ·Q. Sа:5?7:, ч?2 в :а?17ц5 P ·Q 6а :5с?5
(1, 1) бB35? с?2L?C эл5:56?
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a0ε
k+l→1
1 + a1ε

k+l→2
1 + . . .+ akε

l→1
1 = εl→1

1 (a0εk
1 + a1ε

k→1
1 + . . .+ ak) =

εl→1
1 f(ε1);

6а :5с?5 (2, 1) – эл5:56?

a0ε
k+l→2
1 + a1ε

k+l→3
1 + . . .+ akε

l→1
1 = εl→2

1 f(ε1)
7 ?. 3. ,аI265ц, 6а :5с?5 (l, 1) бB35? с?2L?C эл5:56?

a0εk
1 + a1ε

k→1
1 + . . .+ ak = f(ε1).

,а :5с?5 (l + 1, 1) бB35? с?2L?C эл5:56?

b0ε
k+l→1
1 + b1ε

k+l→2
1 + . . .+ blε

k→1
1 = εk→1

1 g(ε1) = 0
7 ?. 3.

Расс:2?17: эл5:56?9, I2?2195 02лBчаю?сL 017 B:6245677 l+1-
;2 с?2лбца :а?17ц9 Q 6а :а?17цB P . ,а :5с?5 (1, l+1) бB35? с?2L?C
эл5:56?

a0ω
k+l→1
1 + a1ω

k+l→2
1 + . . .+ akω

l→1
1 = ωl→1

1 (a0ωk
1 + a1ω

k→1
1 + . . .+ ak) =

ωl→1
1 f(ω1) = 0;

6а :5с?5 (l + 1, l + 1) – эл5:56?

b0ω
k+l→1
1 + b1ω

k+l→2
1 + . . .+ blω

k→1
1 = ωk→1

1 g(ω1);
6а :5с?5 (l + k, l + 1) бB35? с?2L?C эл5:56?

b0ωl
1 + b1ω

l→1
1 + . . .+ bl = g(ω1).

/9ч7слLL а6ал2;7ч69: 2б1аз2: 31B;75 эл5:56?9, 02лBч7::

P ·Q =





εl→1
1 f(ε1) . . . εl→1

l f(εl) 0 . . . 0

εl→2
1 f(ε1) . . . εl→2

l f(εl) 0 . . . 0
. . . . . . . . . . . . . . . . . .

f(ε1) . . . f(εl) 0 . . . 0
0 . . . 0 ωk→1

1 g(ω1) . . . ωk→1
k g(ωk)

0 . . . 0 ωk→2
1 g(ω1) . . . ωk→2

k g(ωk)
. . . . . . . . . . . . . . . . . .
0 . . . 0 g(ω1) . . . g(ωk)



{{{{{{{{{{{{{{}

.

/9ч7сл7: 201535л7?5л7 э?7х :а?17ц:

detP = Res(f, g), detQ =
∏

1≤i<j≤k

(ωi↓ωj)·
∏

1≤r<s≤l

(εr↓εs)·
∏

1≤r≤l
1≤i≤k

(εr↓ωi),
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det(P ·Q) =
∏

1≤r≤l

f(εr) ·
∏

1≤r<s≤l

(εr ↓ εs) ·
∏

1≤i≤k

g(ωi) ·
∏

1≤i<j≤k

(ωi ↓ωj) =

=
∏

1≤i<j≤k

(ωi ↓ ωj) ·
∏

1≤r<s≤l

(εr ↓ εs) · al0
∏

1≤r≤l
1≤i≤k

(εr ↓ ωi) · bk0
∏

1≤i≤k
1≤r≤l

(ωi ↓ εr).

Nч7?9ваL, ч?2

detP · detQ = det(P ·Q),

02сл5 с2I1аE567L, 02лBч7:

detP = al0 b
k
0

∏

1≤i≤k
1≤j≤l

(ωi ↓ εj).

Т5215:а 32Iаза6а.
С л 5 3 с ? в 7 5. С;р(/е.л2/о р(/е)-т/о

Res(f, g) = al0

k∏

i=1

g(ωi).

N 0 1 а 4 6 5 6 7 L. 1) Г35 6B462, ч?2б9 a0 7 b0 б9л7 2?л7ч69 2?
6BлL? 2) =2ч5:B в902л656625 с2I1аE5675 заI2662?

25.2. 84/те4/9 +105е+т)1+т/ 60у7 у4(0)е)/9 + 16)/5
)е/з0е+т):5. Т5051C :9 ;2?2в9 3а?C 2?в5? 6а в2012с, сA21:Bл7-
12ва669й в 6ачал5 0а1а;1аAа.

Т 5 2 1 5 : а 2. 4л5 +)о0о1ле)о/ f, g → P [x] р(/)о-2ль)8 -ле.у-
6?2е ут/ерж.е)25:

1) Res(f, g) = 0;
2) f 2 g 2+е6т о7?2A Bоре)ь 2л2 a0 = b0 = 0.
8 2 I а з а ? 5 л C с ? в 2 1азб7ва5?сL 6а 65сI2лCI2 слBча5в.
Слу1(A 1. a0 ↑= 0, b0 ↑= 0. С1азB сл53B5? 7з ?5215:9 1.
Слу1(A 2. a0 = b0 = 0. Т2;3а ц5л9й с?2лб7I в 201535л7?5л5

Res(f, g) 1ав56 6Bлю, а 02?2:B Res(f, g) = 0.
Слу1(A 3. a0 ↑= 0, b0 = 0. .сл7 g(x) ↗ 0, ?2 Res(f, g) = 0, f 7 g

7:5ю? 2бE7й I2156C. =Bс?C g(x) ↑↗ 0, 62 b0 = . . . = bi→1 = 0, bi ↑= 0.
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С 31B;2й с?21269, 3лL :62;2чл56а

f(x) = a0(x↓ ω1)(x↓ ω2) . . . (x↓ ωn)

6ай35: 0127зв236Bю 02 A21:Bл5 37AA5156ц712ва67L 0127зв53567L:

f ′(x) = a0

n∑

i=1

∏

j $=i
1≤j≤n

(x↓ ωj).

=23с?ав7в з6ач5675 ωi, 02лBч7:

f ′(ωi) = a0
∏

j $=i
1≤j≤n

(ωi ↓ ωj).

Т2;3а

Res(f, f ′) = a2n→1
0

n∏

i=1

∏

j $=i
1≤j≤n

(ωi↓ωj) = a2n→2
0 (↓1)C

2
na0

∏

1≤i<j≤n

(ωi↓ωj)
2 =

= (↓1)C
2
na0 Dis(f).

Т5215:а 32Iаза6а.
= 1 7 : 5 1. =Bс?C f(x) = ax2 + bx + c. Т2;3а f ′ = 2ax + b, 7,

в9ч7слLL 37сI17:76а6?, 02лBч7:

Dis(f) = (↓1)C
2
2
1

a

))))))

a b c
2a b 0
0 2a b

))))))
= b2 ↓ 4ac.

§ 26. ;)121.ле): 1т )е+,1ль,/7 пе4е5е)):7

26.1. 81ль=1 5)121.ле)10 1т )е+,1ль,/7 пе4е5е)):7.
C)о0о1ле)о+ )(. Bольцо+ K от n ;ере+е))89 x1, x2, . . . , xn 6аз9-
ва5?сL в91а45675

f = f(x1, x2, . . . , xn) =
∑

k1,k2,...,kn

ak1k2...knx
k1
1 xk2

2 . . . xkn
n , ak1k2...kn → K,


